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If A and B are two independent events
in a sample space S for a random
experiment such that P(A) =0.3,
P(A-B) = 0.06 ,then P(B)=
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If Z is a standard normal random variable
suchthatP (| Z| < K) =0.9544 then
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If x is adiscrete random variable
whose expectation equals 5 and
its standard deviation equals 3,

then ¥ x7 f(x.)=
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If A and B are two events in a
sample space S for a random
experiment such that Ac B,
thenP(ANB)=

Aomal A e cliad e liaa o} Q81

(N ) ol @D 1 ol8s 48 sl

P(B)

(«)d

P(A")




If the marks of the students of a
class in the statistics exam follow
a normal distribution whose
mean is 75 and its variance is 25
If Ahmed got 80 marks in this
exam ,then his mark in the
standard form is
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If x is a random variable whose range
{O,1,2,3,4},P(x=0)=P(x=4)=1—16 Lo (t= )= (v = o)
and P(x=1)=P(x=3)=7 , then \
P(1<x<3)= 7 =(=0)d=( =u)d

=(Y=2=")J
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If x is a normal random variable whose
mean is p and its standard deviation is
o thenP(x >p )=
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The relation between the side

length of an equilateral triangle

and its perimeter represents a
correlation
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strong direct

strong inverse

perfect direct
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42 learners are studying in a
classroom. The number of
learners studying French
language is 28, the number of the
learners studying German
language is 21 and the number of
the learners studying both
languages is 7. If a learner has
been randomly chosen from the
classroom, find the probability
the learner studies:
First : the French language only
Second: the French language if
he (she) studies German
language.
Third: if he (she) does not study
any of the two languages .
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If X is a continuous random variable
whose probability density function
IS:
x+1
fxX)=1 8

zZero other wise
find the value of k ,then find

k <x<k+2
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If x is adiscrete random variable
whose probability distribution is as

follows :

0

1

2

b

0.1

0.2

0.3

C

If o =1 and the coefficient of
variation = 50 % ,then find the value

of each of band c
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In a study to find the relation
between the required quantity (y)
and the price (x) for a certain

product , the results show that:
x=85,y=45,n=8,)xy =348
Y x2=620,Y y? =204

First: find the linear correlation
coefficient between x and y using the
Pearson’s method and identify its

type.

b find the regression line equation.
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The next data represent the ranks of 6
students in Statistics and Economy.

Statistics
good
excellent

Economy
excellent
excellent

Calculate Spearman’s linear correlation
coefficient and determine its type.
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If X is a normal random variable
whose mean is u and its standard

deviation is o
P(x < 10 )=0.8413 and
P(x = 10.5 ) =0.1056 .then find

the value of each of pand o
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